P33T EPPRNERERG K&

~ 2
7 x’+14x+45 1. 4x°—12x+9 %
110 O0 *
*k
R 8x—20 I, ~2x° *
A y . X
*
7. (a+86) (a+1) 1 (a—7) 2 *
2 1 0 O *
*
R (a+2) (a—2) I, (a+3) (a—5) *
A A * 4
L3
317, 2 4 1, 1 N 99 *
A A N ©) 4 *
ES *
7. 6 1. —y2 +34y5 * *
A * JapO#E DA A * *
4 * *
7, 4] I, 4& * *
A A % *
. %k
5 |7. 22. 4 £, 10# b, —3+2¢3 *
A *22 3(6)DA ©) 7 *
%k
7. x=0, 1 1. x=6, —2 *
6 | O * 12ERDA A * | 2ERDA *
%k
.- + 11 .
A x=j;jfg; z, x=2=y6 . *
B3 53 ODEDRE " (x—12) (x+2) =0 ¥ | x
x—1, x, x+1¢¥4%- - -@A x=12, —2- - -DA * | %
FEPLFERNEESD L x>0&Y x=1 2j3ME * | %
71 5 {(x+) + (x-1)} +24=x? 3 ELTW3,- - -@A * | *
EBERELTELHR L . LoT. EHET33290FE0KT * | %
x*~10x—24=0---@A 11, 12, 13---DA * | %k
O*9 LA B ERE
L % | ok
g8i7. ©® @ ® 1, ® @ G ® 7, @ * |k
0 N 0 x| % |6
. *
917. A (—1, 1) i, ANOAB= 3 5. D (4, 0) *
A A Q 4 ol
: *
10 a=2 ‘\\\\\\\\~\\\\\\\\\‘ *
PN * 2
7. EF=7. 5¢cm
A
(&H)
1114, ACBD OO EZOBOARENLFRE LY
* 2CHa O *TENEN BUEDA
(GEER) )
AADE L A ABCIZBWT - « - (DA (1), (2) kv
REMD ' 2HOARENTRELVOT: - - @A
LAED=ZACB (1) -+ - DA A ADE A ABC- - - (DA
L ATHE (2)- - -®A
*G
S ROl VER

O EENRAFEZF (O: 25 @:38 Q:4K)
ABEFEAREE (A: 28 AR
O:%E BELZESICoNToOME, B

(C:18 0:08

100




PIYE HAPEXRAERY s=mcSnEnd KRS

AT

7, (x+5) (x4+9) —-FEAX—xXx+ (5+9) x+5X8=x34+14x+45

4. {(2x—38) % =FELRA— (2x) *+2%x2xX (-3) + (—3) * =4x*—~12%x+9
g, (x+2) (x—2) — (x—4) % -EBHELTEFLHDE->x*~4—~ (x*—8x+16)
=x?’—-4—x*+8x—16=8x—20
x, BxyiX (—3x?%) + (3y)? -RE-BREOECTHE-—-18§xy’T0y? =—2y%°
2 EOXEBEBHR LR XV,
7., a*+7a+6—-MFT6, ELT7— (a+6) (a+1)

4. a’—14a+49—-2F% - 2 - 2F > (a—7) °

v, (a+1) (a—4) +3a—'§§ﬁbfikbf7b>6@ﬁﬁﬁ¥"’a —3a—-4+3a
=a’—4= (a) *— (2) ? >fMEEDOF > (a+2) (a—2)

x, (a—4) *+5 (a—4) —14—-a—4=A¢LLTRHENR - A*+5A-T 4=
(A+7)(A—2)4A=a—4~=(a~4+7)(a—4—2)=(a+3)(a—6)

3 KOBWZE LR EN,

7. STORIBAREEP2RLEFTT, EOBRERZRDRRE W,
S 576=2X288=2X2X144=2X2X2XB2=2X2X2X2X38=4X4X6XE6

..............

—4X6X4X6 =24X24=24"
4, a+b=—38, ab=4D¢&E, a +b ' DEERDAREV,

o BREOPFICIE. 20 ERMOEEDETES = & DM LENRHS,
FExiE. 3. SHKOXS RS- ERMESD
: 3=3%X1= (2+1) (2—-1) =2%—12 :
; 8=4X2= (83+1) (3-1) =3*—1° :

{
1 1 10=
11X9EoTHREEZHE-T.

4 ROHBEELIZE,
7.¥Y3xJ12=y36=56_
4. {5+V8-3V2+y20=V5+2V2-3Y2+2V5=-V2+3V5

9 -2 . ..E.,_ 3 =.§__‘/§__ = - 3 =
m,Tg_fgnyE = 3V 3 5 3V3=3{3-3y3=0

1 1 . 1 1
. (=4 2) 2~ (2-— ) 2= (2 ;7)) 2— (2— ) TRt EOR CRESH
= T2 Jz Jz T2
LI 1 L oaiy = (1) (2 4 (YI) =ayz

- (24—=—+2——=) (2+ 2
vz ) V2 Vz Ve

5 BORBWLEAREN,

7. V5 =2.236, ¥y50=7.071.L7T. V500 OELUEZE/MEBE—IrE TRDIREN,
y500=10y5=10%x2. 236=22. 36—/ MEBMEMBREA—-22. 4

4. 100DHA—FiZ 1~¢100§?@&%#%§T,tEL\m%®¢mﬁ%¢sw§&w¢2

RN BHHDT. V12 =2vV3 LB T EILET
2 100KDI— FOBREBERBAN TS 7 — FITHH Y £+,



Hﬁ@@mf“%ﬁb&w%ﬁ6&£9\f7=1\f2=2z----¢100=10®10&

G V3 OISR 8 . NS BEDLEFTHEE, ai—biDEEKDIEEL,
~»o<f§<1;v\J§—?&% Fa t AL =1+b, LoTb=y 3 —1 k9
w«bzzw—(JE—l)f-1-(3~2f§+1)=~3+2f§

———

_EJ ROFRAEE RS,

T, x {x—1) = ¢ x=0, x—=1=04L¥% x=0 1
T, x"=4x—12=0 = (x—6) (x+2) =0L¥ XxX=6, -2

V2T RFI=0-MOAK a=2 b=—17. C=1
7= y49-8  7: /4]
4 4
Toox” AT 2=0-FHEM x4 xF 2= At d =2 b (x-2) *=¢
=R —2=T Y6 vx—=2% 9]

X =

8 BE% & REmLSHGRAE T % B RR,

10

il

BADL 22, B y=x"& ER y=x+2 K24A, BTu%ionoTu g,
INLERODENNIEZ I &, - :

< SADEFRERDR I,
- y=x* BREC &L x* “h—2~0i0
o y=x-+ 2 x=—1,
x<0LH x=-] ioT\A(-l 1)

‘2+2X +2

il
B0
(w s

DT,
@ot EﬂEDmy= -
%Wﬁm\y—OQﬁﬂTé
LoTHEDDEFET (4, 0

2 OB y«%

&
ZlOBENE LL 6& . adEE 133‘»7;(:3*:\

a\v

X a — a+ e

¥ ) a® (a+2) % =a*+4a+4

(a*+4da1rd) —ac* da v 4 RO RS

BOBWIEZ R0,

7 ABC°>ADthh5t§vAABC&ADEFﬁﬁMHﬁZ:3T®6~

é,=~ J&Tét EFPER&EMcemTdd, D
A . 2:3=5:%
-~ ) 2x=18§
/ X=7.5
EF=7.5c¢cm
F

1. f?rD ﬁ%gézﬁﬁ}tdﬁﬁa% ’&@ﬂﬂ

=6 X - LDV, x DA a Al 4 T2 ETHWMTALED

l
!

Tl g = = = 2a+2-o~1Jmmwf*x
{(a+2) —a 2 LB
2ut+2=6%M< L, a=2

X



